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{@}x := e{R} < Q= R[x:=¢]
~—_——
wp(x := e,R)

{Q}if B then S; else S, end {R}

{QA B }S {R)} (Qr B)= wp(Si, R)
<~ A\ <~ A
{Qr-B )} S {R} (QA-B) = wp(Sz, R)

{Q} S1 5 S {R} < Q= wp(Sy, wp(Sz, R))

Wp(S1 7 827 R)
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from
Sinit
invariant
invariant_tag: .
until

B

loop
S%mw
variant
variant_tag: “V
end
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Loop
Invariant
Violation

Loop
Variant
Violation
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test
local
i: INTEGER
do
from

io.put_string ("iteration " + i.out
1 :=‘!ﬁF15

vaxiant
6 — 1

end

end

Loop
Invariant
Violation

Variant
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local 04 ,7 (\dl/)-
i: INTEGER
Ceron
Y et
invariant
1 <= 1 and 1 <= 6
until
i>5
loop
io.put_string ("iteration " + i.out
variant et
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end
Iend
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Invariant
Violation

Loop
Variant
Violation
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